REVISION FOR END-OF-TERM TEST / GRADE 11
PRACTICE TEST 3
I. Multiple choice: 
1. Choose the word which has a different sound in the part underlined.
A. methane		B. farmland		C.  balance		D. atmosphere
2. Choose the word which has a different stress pattern from the others.
A. impact		B. release		C.  methane		D. fossil
Choose the best answer A, B, C or D to complete the sentences.
3. Humans ______ atmospheric carbon dioxide concentration by a third since the Industrial Revolution began. 
A. increase		B. have increased C.  had increased 	D. were increasing
4. I deeply regret _____ to her so severely yesterday. She was badly hurt.
	A. to be speaking       B. to speak                C. speaking             D. being spoken
5. Have you ever read the Wuthering Heights? - Oh. That's my favourite. I ____ it many times, at least four.
A. read		B. have read	C.  was reading	D. used to read
6. They met to discuss the ______ of working conditions at the factory. 
A. issues		B. difficulties		   C.  sets		D. worries
7. Methane is a far more active _____ than carbon dioxide, but also one which is much less abundant in the atmosphere. 
A. greenhouse gas 			B. greenhouse effect 	 
C.  climate change 	 			D. emission
8. What does the message mean?
	Hi Julie!
We’re visiting a local pottery craft village in Cambodia to learn how artisans make pieces of pottery. After the visit, we will go back to the hotel for lunch at around 1p.m
John
	A. John is learning to make pottery thing in Cambodia as a part of his job.
B. Julie is visiting a craft village in Cambodia.
C. John has lunch in a hotel in a craft village in Cambodia.
D. John will have lunch after finishing his visit to a pottery craft in Cambodia.



9. Choose the underlined part A, B, C or D that needs correction.
Using different kinds of fossil fuels had been the main cause of climate change so far.
A. had been		B. Using		C.  cause		D. of
10. We were so looking forward to stretching out on the beach in the sunshine, but it  	 the whole time we were there.
A. poured with rain			B. jumped down my throat
C. dropped in the bucket			D. made hay while the sun shined
Kiến thức: thành ngữ
· pour with rain: mưa nặng hạt, đặc biệt là trong một khoảng thời gian dài.
· jump down someone’s throat: phản ứng cực kì giận dữ với ai đó.
· drop in the bucket: chuyện nhỏ, không quan trọng
· make hay while the sun shines: mượn gió bẻ măng
Tạm dịch: Chúng tôi vô cùng mong chờ được nằm dài trên bãi biển đầy nắng, nhưng trời mưa nặng hạt suốt quãng thời gian chúng tôi ở đó.
II. READING: 
A. Read the following passage and mark the letter A, B, C, or D to indicate the correct word or phrase that best fits each of the numbered blanks from 1 to 5 
In Western cultures, particularly in the United States and Australia, birthday parties are often accompanied by colorful decorations, such as balloons and streamers. A birthday cake is often (1)__________with candles that are to be blown out after a "birthday wish" has been made. While the birthday cake is being brought to the table, the song Happy Birthday to You is sung by the guests. A practice most (2)_________among wealthy people and celebrities, but engaged in by many others as well, is to hire an event management agency or a party service to organize a birthday party.
A child's birthday party may be (3)__________at his/her home or in a public place. Soft drinks are often had alongside water and both sweet and savory foods are typically served to the guests. In many (4)_______, a birthday cake is served. Birthday parties for children often feature entertainment, costumes, party games, and a theme. Adults' birthday parties in Western countries are often held in bars or nightclubs. Though some are held at a restaurant or even at home. A birthday party usually includes gifts (5)_________the person whose birthday it is. 
1. A. served 		B. offered 		C. presented 		D. used 
2. A. ordinary 		B. general 		C. universal 		D. common 
3. A. arranged 	B. entertained 	C. held 		D. run 
4. A. civilizations 	B. cultures 		C. environments 	D. peoples 
[bookmark: _GoBack]5. A. with 		B. by 			C. at 			D. for 

[bookmark: bookmark1815][bookmark: bookmark1816][bookmark: bookmark1817]B. Read the following passage and circle A.  B.  C. or D to indicate the correct answer 
	The costs and benefits of global warming will vary greatly from area to area. For moderate climate change, the balance can be difficult to assess. But the larger the change in climate, the more negative the consequences will become. Global warming will probably make life harder, not easier, for most people This is mainly because we have already built enormous infrastructure based on the climate we now have. 
	People in some temperate zones may benefit from milder winters, more abundant rainfall, and expanding crop production zones. But people in other areas will suffer from increased heat waves, coastal erosion, rising sea level more erratic rainfall, and droughts. 
	The crops, natural vegetation, and domesticated and wild animals (including seafood) that sustain people in a given area may be unable to adapt to local or regional changes in climate. The ranges of diseases and insect pests that are limited by temperature may expand, if other environmental conditions are also favourable. 
	In its summary report on the impacts of climate change, the Intergovernmental Panel on Climate Change stated, "Taken as a whole, the range of published evidence indicates that the net damage costs of climate change are likely to be significant and to increase over time.” 
1. What is the main idea of the passage?
A. Environment pollution is real. 	
B. Reasons why low-lying areas are flooded. 
C. Solutions to global warming.	
D. Reasons why global warming is a problem. 
2. In paragraph 1, the word “this” refers to __________.
A. harder life as a result of global warming 	
B. easier life as a result of global warming 
C. climate change on global scale	
D. flood in low-lying areas 
3. In paragraph 2, the word “erratic” is closest in meaning to ____.
A. predictable	B. unpredictable 	C. changeable	D. unchangeable 
4. According to the passage, all of the following are the results of global warming EXCEPT ____. 
A. higher temperature	B. coastal erosion       
C. increasing sea level	D. stable rainfall 
5. What may happen to diseases and insect pests as a result of global warming?
A. They will become extinct. 	B. They will increase in number.
C. They will not harm our planet. 	D. They will be under good control. 
III. WRITING 
Rewrite the following sentences, do as directed: 
1.  He was standing in the queue, he realized that he didn't have any money. (Rewrite the sentence, using participle)
 Standing in the queue, he realized that he didn’t have any money.
2.  Nam was disturbed by the noise in the hall. He decided to leave early. (Rewrite the sentence, using participle)
 Disturbed by the noise in the hall, Nam decided to leave early.
3. Many countries and world leaders started to agree to protect the forests and end deforestation a long time ago. (Rewrite the sentence, using “for”)
 Many countries and world leaders have agreed to protect the forests and end deforestation for a long time.
4.  Planting more and more trees every year is a good idea for us. (Using to infinitive to rewrite the sentence)
 It’s a good idea for us to plant more and more trees every year.
5. I will never forget my trip to Ha Long Bay last year. (Rewrite the sentence, beginning as shown)
 I will never forget visiting Ha Long Bay last year.




